Best model for HELP J121354.699-011237.580 at z = 0.586 x>=8.3
OPTx?=9.13 IRx?=9.12 threshold (OPT IR)=12.69 [um]

> 1 : Stellar attenuated
10° 4 e Stellar unattenuated
—— Dust emission
] [F —— AGN emission
1 = Model spectrum
10 E ® Model fluxes
] M oObserved fluxes
= 1009 4
? ]
= 1 m
bad —
5 1071 4 —
[ oo e
10—2 4
1073 3
pad E
=) ]
=14
© 1 =f= (Obs-Mod)/Obs
3 ]
S ]
b ]
8 o _-____ _________________________________
) ]
2 ]
5 ]
© -1 T —r CiGAL
(V]
[a'd

10° 10! 107 103 104 A
Observed wavelength [um]



